O
o
AN
gl o
2 o |2
3 I\ W T
o
2180, O |
2| =
E )
BlE> Qo
Sl 3
3E o = =
< o ~
mnmv ,.wwvm. S50
< a el
s £k 2 » N
[a] .W @ (7] Al
W m d,m
(21 2 2 i
) gl I ..
= 8% 8¢ o
n A
JHYISIOA yoeu JHYISIOA yoeu m —
puejsgesjisyIaydls pueisqesjsyIayls . (0))
N SYS+TV =0 SYS+eN =0 N D_
~ o
vz \s 15N N = —
C =
S8 S 0 £ Q9
X o =
n
— , ! Q2§
-3 Q 1" w R Q 1" M m (%)
| | r N
(Y | = I © _.um =
Qo O =
@) —
%
©
£
3
=
“.”.ﬁ“uﬂ.”"..uw W
NN PPN A PN PN PN PN
S8 59
SYS 6118 S¥8
X2 Zu-1s [
(v) ayeuqsBuebyoing YU 1ejusles = 1S
(d) obuepebesy
. o ..
— bo) .
c |E =
Z S |O (@)
< |¥ |x <

i Us)eyaquon usBuniapuy ayosiuyoal




